REVISIONS
NOTES:
1. MATERIAL: 20LBS PAPER
2. PAPER FINISHED SIZE: 550mm x 512mm PORTRAIT
3. INK COLOUR: PANTONE PROCESS BLACK OR
FOLD LINES EQUIVALENT FOLD LINES
| 4. BACKGROUND COLOUR: WHITE |
5. PRINT EACH PAGE ON A SINGLE SHEET BACK-TO-
| BACK. FOLD ACCORDING TO FOLD LINES. |
| 6. FOR ARTWORK REFER TO ARTWORK FILE |
| 531-0089-01-01_REV-A(ARTWORK)
7. FOR MANUFACTURER’S QUALITY AUDIT/CHECK
| REFER TO THIS DRAWING | | | |
XANTREX FREEDOM SW MIOUNTING TEMPLATE 8. MANUFACTURER SHALL PROVIDE SE WITH 1 OF 2 I o rip <D ok @ o
\ \ | \ \ FIRST ARTICLE APPROVED SAMPLES N e (P 5055004 N N
-0 ; -© - -® -© - -0 - | | | | |
\Q{Qasgn(ém?e DRIP SHIELD (PI\I: 808-9004)
o o ° o o
12.0° (BO‘jmm) 0.78" (;Omm) 12.6" (320mm) 3.5" (90mm)

. '
e | | 12.0" (30Imm)
@ FREEDOM SW INVERTER/CHARGER UNIT @ S FREEDOM SW INVERJER/CHARGER UNIT

clearance hole

\
MATERIALS NEEDED: From the Freedom SW Installation Guide: Step 2: Mounting the Inverter/Charger ‘ S IN OG 3 HH ﬂ | T

i To mount the inverter/charger: 1.27 (31mm)
Power drill 1. Remove the inverter/charger from its shipping container. ‘ I ‘
Screwdriver set 2. Verify that all components are present. _ _ _ _
4X 1/4" (M6) pan-head steel screws Select an appropriate mounting location and orientation. See Installation Guide.
10X #6 (M3) pan-head steel screws 3. Mark the position of the mounting holes.
4, Pilot drill the six mounting holes. I — 0.25” (6.35mm)
NOTE: Screw length depends 5 Fasten the inverter/charger to the mounting surface with 8ix 1/4" (M6) pan-head steel screws. clearance hole
on wall material and thickness.
A CAUTION l
HEAVY LOAD HAZARD
Do not lift the unit by yourself. Use two people to lift and mount
the unit. Always use proper lifting techniques during installation to I
prevent injury.
Make sure that the wall can support a load of up to 70 Ibs (32 kg).
L} —— G Di _ inc L€ g dy\mi——rs. o —— L) —— L} L ] L] L J L J F O L D L I N ES —— —— L) —— L} —— L ] —— L J I_ —— L) —— L} L] L J L] L]
Attach the unit to wall studs. Use the appropriate screw length
depending on wall material and thickness. . . .
Failure to follow theas instructions can result in minor o R MATERIALS NEEDED: From the Freedom SW Installation Guide: Step 2: Mounting the Inverter/Charger
w moderate injury. - 11.85” (301mm) ) To mount the inverter/charger:
(&) > Power drill 1. Remove the inverter/charger from its shipping containe
Iv,) . ) . . . = Screwdriver set 2. Verify that all components are present.
= From the Freedom SW Installation Guide: Inverter Drip Shield Installation p 4X 1/4" (M6) pan-head steel screws Select an appropriate mounting location and orientationg See Installation Guide.
< To install the drip shield: 10X #6 (M3) pan-head steel screws 3. Mark the position of the mounting holes.
L 1. Acquire ten #6 (M3) pan-head steel screws needed to faten the inverter drip shield to the wall. A ] 4. Pilot drill the six mounting holes. ) LE
2. Locate an appropriate setting for the drip shield above the Freedom SW making sure you cover the entire g NOTE: Screw length depends 5. Fasten the inverter/charger to the mounting surface with six 1/4" (M6) pan-head steel screws.

width of the unit. on wall material and thickness.

3.  Fasten the screws through the holes in the drip shield intl the wall. A CAUTION I
HEAVY LOAD HAZARD

Do not lift the unit by yourself. Use two people to lift and mount
the unit. Always use proper lifting techniques during installation to I

11.85” (301mm)

prevent injury.

3dIS NVA

Make sure that the wall can support a load of up to 70 Ibs (32 kg).

Do not install in drywall (plasterboard) using dywall anchors.
Attach the unit to wall studs. Use the appropriate screw length
depending on wall material and thickness. I

DC PANEL SIDE

l From the Freedom SW Installation Guide: 11verter Drip Shield Installation

To install the drip shield:
1. Acquire ten #6 (M3) pan-head steel screws needed to fasten the inverter drip shield to the wall.
2. Locate an appropriate setting for the drip shield above ':Ie Freedom SW making sure you cover the entire

- _ _ _ width of the unit.
3. Fasten the screws through the holes in the drip shield i
I 2.1 (53mm)

& FREEDOM SW | &

12.6" (320mm) @ @
531-0089-01-01 REV A I

Copyright © 2014 Schneider Electric. All Rights Reserved. All trademarks are owned by Schneider Electric Industries SAS or its affiliated companies. Page 1 of 2 Page 2 of 2

o the wall.

CONFIDENTIAL INFORMATION OF SCHNEIDER ELECTRIC SOLARINVERTERS USAINC.

COPYRIGHT © 2014 SCHNEIDER ELECTRIC. ALL RIGHTS RESERVED. THIS DOCUMENT IS THE PROPERTY o
OF SE SOLAR INVERTERS USA INC, AND SHALL NOT BE USED OR REPRODUCED IN ANY FORM OR FOR ANY
PURPOSE WHATSOEVER, WITHOUT THE EXPRESS WRITTEN PERMISSION OF SE SOLAR INVERTERS USA INC.
.
TOLERANCES: XX XXX ANGLES g E I e C t r I C

(UNLESS OTHERWISE SHOWN) +-03 - 013 - 050

TITLE:

MOUNTING TEMPLATE XANTREX FREEDOM SW

AUT SIZE DWG No. REV

DIMENSIONS ARE IN Jayvee V. 2014-04-14 D

MILLIMETERS UNLESS  f&= 53 1 _0089_0 1 _O 1 A
OTHERWISE SHOWN Jayvee V. 2014-04-14 SCALE 44 ST 4 o 1
1




